_ HARDER ELIMINATION METHOD Questions 35

1 Se:h'fe these Siiﬁuitargepiis_ eq;zia‘tiéhs by elimination: | . . -
(@ 7x+2y =33 and 3+y=17 0 .. () 6a-5b=10.and-2ewb=14 -

J

(@ 4y +5z=-16 and y -3 = 3 . (@ 1h-2k=9 and Th-6k=51.

aps

(© S -3¢g=40 asd Sp-24=26 -~ ® be+7d=-3 and 3c-4d=T"

-

(@ 10e+F+2=0 and 9ew5-i2=0 @ Sk-2-1=0 and 3k+5t-44=0 .




' PROBLEM SOLVING — SiMQLfAN'E'{BQé.EQUATI_G&S Questions &7 -

1, Form a pazr of smmitaneous equanons and solve th em {0 answer these problems:

(a) Gordana anid Kate tocrethrﬁr invested . .(b) Stepnen scored 224 runs in a cricket match,

©. $20600 in a new business. If Gordana’  In the sécond innings he scored 8 more runs
invested 3 times a§ much. as Z&afe, hew " than he scored in the first innings. How' ‘many -
“much did each mvest‘? ' ruzs did Stephen score in each mmncs’? -

(c) 3 boess and 7 penczis cost $10.,40, - () Thers are both sheaa and- emus 2 & .
- whilé 8 Books and 5 pencils cost $1 75 - paédoc& AXtogether there are 94 heads

How much 18 each pencil? - — and 300 legs, - _
: How many sheep are in the paddock? .

LRI

(e) Alice is 17 years “older then her b*'other. (i) 10 bohs and § milits veigh 372 graxils, W}}ﬂe
Theis combined ages fotal 41 years. . 6 bolts and 13 nuls weigh 297 grams.
"How old are Alice and her brother? o What would be the comb,ned Wezchf of 7

L - B : bolts and 10 nus? '
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1. Form a pair of smu}faneous eqLatmns and solve thnm o answer these problems :

" '(a) Gordana and Kate tecether invested - * (b)) Stephen scored 224 runs i a crzcket match
~L 820600 111 a new busmess If Gordana _' .- Inthe second innings he scored 8 more runs
iAvested 3 times gs-much as hate, how " than he scored i in the first innings. How’ ‘many
much did -each invest? runs did. Stephen score in each- mnmcs‘? '
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(c) 3 books and 7 pencils éost $10 dO @ T_here are both sheea and ‘emiis ina
- while 8 books and 5 pencils cost $1 . paddock. Al ocethnr there are 94 heads
How much is each pencil? x4 and 300 legs. . :
ﬁdl wvt,t"_f UJ? btul be. 7 o - How many sheép are in the paddock‘? .
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(e) Alice is 17 years older than her brother. (f) 10 bolts and 8 nuts weigh 3723?1‘?%53?3—‘
Their combined gges fotal 41 years, 6 bolts and 13 nuts weigh 297 grams.
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